13a.) Determine the axis of symmetry. Cq Ud'h on L.) Determine the axis of symmetry
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14a.) A baseballis thrown stralght up in the air with an initial velocity of 28 feet per second. Its
seconds is given by the function h(t) = —16t* + 28t + 6. What s
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the baseb I’ e| t?
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b.) A soccer ball is juggled in the air with an initial velocity of Ypfeet per second. Its height, h, in feet after t seconds is
given by the function h(t) = —16t? + 40t + 3. What is the soccer ball’s maximum height?
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15a.) A tennis ball is propelled from the face of a racket that is 3 feet above the ground with an initial velocity of 40
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Substitute the values into the vertical motion formula: h(t) = —16t* + vt +c.

1) At what time is the tennis ball at its highest pomt? M NX ( \Jer “@X)
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